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2. Identify the relation and fill the blank. . .
Vinyl chloride :  Polyvinylchloride (PVC) ' .
. Polytetrafluoroethene (Teflon) .

Bauxite is the ore of metal.

Select the general formula of alkynes.
{CHHII'\ ’ CnH2n+ 2! Il\':nHlﬂ -2 CnHlln}.

3

ﬁ. +
@ 1 GMM (Gram Molecular Mass) of a substance contains number of 1
molecules.

“ ) Which of the following metal reacts vigorously with dilute hydrochloric acid 2 i
[Mgr Cui‘ EEJ 'Pb) |

7. The gas which prﬂduceu:[ when ammonium chloride (NH,Cl) heated with calcium 1

hydroxide (Ca(OH),) 1s

rocess of electroplating copper on an iron bangle, the bangle is connected to 1

g Inthep
rminal of the battery ?

which te
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Which portion of this graph shows chemical equilibrium ?
Why chenucal eguilibrium is called dynamic equilibrium ?

How ethanoic ackd s industrially prepared ?
Write the chemical egquation of this reaction

Select the oadation reaction from the given chemical equations
M Cu*"+ 22" =Cu s

(i) Zn—=Zn**+ 2¢
When a metal oxidises, how does its oxidation number changes ?

ﬁi Ihe molecular formula of a hydrocarbon is C.H, . This is a branched chain

compound. The branch is a methyl group

'

Write the structural formula of the compound N
Caive its [UPAC name -l b
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(a) Write the position number of the branch. Al

(b) Name the branch.
(c) Write the IUPAC name of the compour

(a) What is the relation between pressure and volume of a fixed mass of gas when 1
temperature kept constant ? |

(b) Which gas law explains this relationship ? 1

() The volume of a fixed mass of gas is 100 L when it is kept at a pressure of 2atm. 1
Find its volume when its pressure is doubled keeping the temperature constant,

1 mL of Sodium Sulphate solution is taken in a test tube, add two or three drops of
Barium Chloride (BaCl,) solution in it. A white precipitate is formed and it is not
soluble in dilute hydrochloric acid.

(1) What is the chemical name of the white precipitate ? 1
(b) Which ion can be identified by this test ? 1
(c) Write the chemical equation for this reaction. 1
When a Zinc rod is dipped in Copper sulphate (CuSO,) solution, the following
observations are found.

(i) Copper is deposited on Zinc.

(i) The intensity of the colour of Copper sulphate solution decreases.

(@ Which metal is more reactive ? |
(b) Explain the reason for observation (ii). 1
(c) Write the chemical equation of the reaction. 1
Give the suitable method for refining of a metal with respect to the following,

(a) The metal which easily vapourises. 1
(b) Melting point of the metal is very low. 1
(¢) Refining of copper. 1

P.T.0-



ot i

Each question from 25 to 32 carries 4 score:
Avalyseth given i and completet_

|

Substance| .GMM Massin | No.of “Mﬂ-.
3 grams. mole | STPinL
O, 36 360 (a)o 224 a L
NH, 17 (b) 5 112 '
‘ CO; () 21| 88 2 448
'ﬁ HClI 36.5 73 2 )
B_(S'%— 26. A galvanic cell is constructed by Silver (Ag) electrode and Copper (Cu) electrode.
Reactivity of Cuis greater than Ag.
(@) What is the energy change taking place ina galvanic cell ?
| (b) Give the direction of flow of electrons in this galvanic cell
% (c) Write the name of the cathode.
(d) Wrte the chemical equation of the reaction at anode.

@ N,+3H; = 2NH, + Heat
How does the following changes affect the rate of forward reaction ?

(a) More nitrogen 15 added
(b) Temperature is decreased
(c) Pressure is increased

‘f (d) Ammonia produced 1S removed from the system

2 6 N



Haematite is converted to iron by using blast furnace.

(a)
(b)

()

Haematite, limestone and are fed into the blast furnace.

In blast furnace reduction of Haemalite (Fe,0,) into iron is done mainly by carbon

monoxide. Write the chemical equation of this process.

From the furnace impurities are removed as slag. Complete

which shows the formation of slag.
+ Si0, — Casi0,

The molten iron obtained from the furnace

the chemical equation

contains impurities. What is the name

(d)
of the iron obtained ?
The atomic number of Manganese (Mn) is 25.
(a) Write the <ubshell electronic configuration of Manganese.
(b) Find the group and period of Mn in the periodic table.
tronic configuration of Mn?* ion?

(c)

What is the subshell elec
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